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Answer five questions, taking one from each unit.

UNITH
1. Distinguish between descriptiveand inferential statistics. Explainthe
functionsof gatisticsin variousspheresof life. 5+9=14
2. How do categorica variablesdiffer from numerica variables? Givean
account on variables, citing suitableexamples. 5+9=14
UNITHI

3. Discusshow doesobservationd research differ from experimental
research. Explainthevarious stagesof dataanalysis. 5+9=14

4. What are samplesand why arethey important in biological research?
Giveacomprehens ve account on sampling methodsin biological

researche. 5+9=14
UNITHII
5. What do you understand by standard deviation? Cal cul ate standard
deviation of thefollowing dataset. 4+10=14

Items 5 1525 35
Frequency 2 1 1 3

6. Describecentral tendency. Explain therelationship among mean, median
and modeif thedistributionsare symmetrical, positively skewed and
negatively skewed. 4+10=14
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7.

10.

UNIT-HV

Distinguish between mutualy exclusveand non-mutualy exclusveevents
inprobability satistics, citing examples. If onecard isdrawn randomly
from aregular pack of cards, what isthe probability that isiseither an
ace or aspade? 5+9=14

Explain conditional probability withexample. A jar contains30 marbles
of which 20 arered and 10 are blue. If two marblesdrawn one after the
other without replacement, what isthe probability that both of them are
red? Caculateit. 5+9=14

UNIT-V

What isnull hypothesis? Under what conditionwould you reject or
accept it? Compare and contrast the varioustypes of t-testsand their
goplications. 2+3+9=14

What ischi squaretest of independence and what type of dataisit
performed on? Thenormal content of proteinsinthree pulsevarietiesA,
B and C are 60%, 28% and 12% respectively. Supposing you have
conducted anindependent research and quantified theamount of protein
inthesecrop varietiesas: A= 73, B=38and C = 18. Determine
whether your finding supportsthe normal protein content.

(Givenx*=5.99 at 0.05 significancelevel) 2+3+9=14




